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e Carbide Drill for High Hardness Steel Cutting Condition
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HRC of Work
Material 45HRC~55HRC 55HRC~60HRC
IR

Drilling
%’gﬂ%ﬁ ve f ve. f ve. f
(m/min) (mm/rev) (m/min) (mm/rev) (m/min) (mm/rev)

Drill Dia LIHIER b tNHIZERE b tIHIZER i

(mm)E&
2 0.02 - 0.06 0.01-0.04 0.01-0.03
3 0.02 - 0.06 0.01 - 0.04 0.01-0.03
4 0.03- 0.07 0.02-0.05 0.015-0.04
5 0.03- 0.07 0.02 - 0.05 0.015-0.04
6 0.05-0.09 0.02 - 0.06 0.02-0.05
7 20-25 0.06 - 0.1 14 - 22 0.02 - 0.06 11-16 0.02 - 0.05
8 0.08-0.12 0.03-0.07 0.025 - 0.055
9 0.08-0.12 0.03 - 0.07 0.025 - 0.055
10 0.09-0.14 0.035-0.08 0.03-0.06
1 0.09-0.14 0.035 - 0.08 0.03 - 0.06
12 0.1-0.16 0.035-0.08 0.03 - 0.06

@ Adjust cutting condition according to the rigidity of machine or clamp state.
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@ Adjust cutting condition when different sound, unusual vibration occur by cutting.
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@ The middle value is for 3xD drilling condition. When for hole depth more then 3xD,
according to your cutting state to reduce the Vc and f.
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@ Ve HEE (REE)
Calculation Vc

#ERTI7EEAE LR 1 RES—2ERTBERIEER - BB THATURY -

V = Cutting speed HJHIZEE (m/min)
n =314 (EERX)

D = Diameter $##5EEE (mm)

N = Rotating speed #3&E (min™)

_ 7T xDxN
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@ Rotation speed &3k
Calculation of Rotation speed

FRIFTRRWEMES — 2 ENEENEY - TPEBTEATUKRE -

N = Rotating speed & (min")
_ 1000%V V = Cutting speed HJ4IERE (m/min)
= 7t—xD n=3.14 (BE=XR)

D = Diameter $#ZEEE (mm)
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@ Feed rate ELHREE
Calculation of Feed rate

B-NEATESEANEE - BB THRATRY -

F = Feed rate #4582 E (mm/min)
N = Rotating speed &3 (min™)
Z = Number of flute $&EE7)E]
(The flute number of drill is 1. #45E7)20SE7) )
f = Feed rate of the flute S7)348 (mm/1 7))

F = NxZxf

@ Feed for teeth B7JELHRE
Calculation of the Feed of teeth
#EmEI7ERE LNE 1 BES— 2 ERBENIER - SRR THATURE -

f = Feed rate of the flute Z7J#E4RE (mm/1 7])

F F = Feed rate #4583 E (mm/min)
f= N = Rotating speed 3 (min™)
NxZ Z = Number of flute $&387]8

(The flute number of drill is 1. #4FE7IENSET] )

Unit/E{i: mm




